General Info

Number: 690384-100005, CT No. 2303, TSS #956

Description: Watershed Roadway Improvements - Redbank Road Marina Pavement Maintenance

Deadline: 2021-12-22 20:00:00 UTC

Bids			
Business	Bid Total	Submitted at Signed by	Opened at
Mc. B Paving	\$266,560.00	2021-12-22 14:37: Arica Betson	2021-12-22 20:01:06 UTC
George J. Igel & Co., Inc.	\$269,613.00	2021-12-22 15:54: Matthew Check	2021-12-22 20:01:39 UTC
Strawser Paving Company	\$280,126.00	2021-12-17 19:13: Kyle strawser	2021-12-22 20:00:54 UTC

ORD #0110-2022, DIVISION OF WATER

Watershed Roadway Improvements - Redbank Road Marina Pavement Maintenance CIP No. 690384-100005, CT No. 2303, TSS #956

Bid Tabulation, Opened 12/22/21

(not local)

					Engineer's	Estimate	Mc B P	aving
Ref. #	Item#	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
		All work required except work provided below in bid items 2 through 8. This includes but is not limited to all	1		\$116,423.91	\$116,423.91	\$183,215.00	\$183,215.00
Scope	1	mobilization, environmental controls (including Calcium Chloride and		T. C.				
Special	2	Water), site preparation, pavement Bumper Blocks Removed, Stored, and Reinstalled	1	LS LS	\$3,000.00	\$3,000.00	\$2,040.00	\$2,040.00
Special	3	Item Special - New Bumber Block 6' Long, Installed.	10	EA	\$85.00	\$850.00	\$234.00	\$2,340.00
Special	4	Item Special - New Bumber Block 8' Long, Installed.	20	EA	\$125.00	\$2,500.00	\$250.00	\$5,000.00
Special	5	Item Special - Unsuitable Subgrade Removal	308	CY	\$50.00	\$15,400.00	\$12.00	\$3,696.00
Special	6	Item Special - Location of Existing Utilities In Excess of SP-13: CMS	1		\$4,000.00	\$4,000.00	\$5,500.00	\$5,500.00
Special	7	105.07.D Item Special - Repair of Existing Utilities In Excess of SP-13: CMS	1	LS	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00
614	8	105.07.D. Maintenance of Traffic	1	LS LS	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00
109	9	SUBTOTAL: CONTINGENCY (15%, rounded to				\$152,173.91		\$231,791.00
10)		nearest \$)				\$22,826.09		\$34,769.00
		GRAND TOTAL:	; T			\$175,000.00		\$266,560.00
		% DIFFERENCE FROM ENGINEER'S ESTIMATE: % DIFFERENCE WITHIN LOWEST						52.32%
		BIDDER:	:					N/A

				Engineer's	Estimate	Mc B	Paving
Ref. # Item #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
	Contract Compliance No.:					274526318	(1/5/24, MAJ, 3340)

ORD #0110-2022, DIVISION OF WATER

Watershed Roadway Improvements - Redbank Road Marina Pavement Maintenance CIP No. 690384-100005, CT No. 2303, TSS #956

Bid Tabulation, Opened 12/22/21

(local)

					Engineer's	Estimate	George J. Ige	el & Co., Inc.
Ref. #	Item #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
Scope	1	All work required except work provided below in bid items 2 through 8. This includes but is not limited to all mobilization, environmental controls	1		\$116,423.91	\$116,423.91	\$187,000.00	\$187,000.00
G : 1	2	(including Calcium Chloride and Water). site preparation. pavement Bumper Blocks Removed, Stored, and	1	LS	\$3,000.00	\$3,000.00	\$4,800.00	\$4,800.00
Special	2	Reinstalled		LS		,		,
Special	3	Item Special - New Bumber Block 6' Long, Installed.	10	EA	\$85.00	\$850.00	\$108.00	\$1,080.00
Special	4	Item Special - New Bumber Block 8' Long, Installed.	20	EA	\$125.00	\$2,500.00	\$123.00	\$2,460.00
Special	5	Item Special - Unsuitable Subgrade Removal	308	CY	\$50.00	\$15,400.00	\$82.00	\$25,256.00
Special	6	Item Special - Location of Existing Utilities In Excess of SP-13: CMS	1	T.C.	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
Special	7	105.07.D Item Special - Repair of Existing Utilities In Excess of SP-13: CMS	1	LS	\$2,000.00	\$2,000.00	\$2,850.00	\$2,850.00
	0	105.07.D.		LS	40.000.00	* • • • • • • • • • • • • • • • • • • •	4.5.000.00	.
614	8	Maintenance of Traffic	1	LS	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
109	9	SUBTOTAL: CONTINGENCY (15%, rounded to				\$152,173.91		\$234,446.00
107		nearest \$)				\$22,826.09		\$35,167.00
		GRAND TOTAL:				\$175,000.00		\$269,613.00
		% DIFFERENCE FROM ENGINEER'S ESTIMATE:						54.06%
		% DIFFERENCE WITHIN LOWEST BIDDER:						1.15%

				Engineer's	Estimate	George J. Ig	el & Co., Inc.
Item #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
	Contract Compliance No.:					31-4214570 (1	2/16/22, MAJ, 6024)

ORD #0110-2022, DIVISION OF WATER

${\bf Watershed\ Roadway\ Improvements-Redbank\ Road\ Marina\ Pavement\ Maintenance}$

CIP No. 690384-100005, CT No. 2303, TSS #956 Bid Tabulation, Opened 12/22/21

(local)

					Engineer's	Estimate	Strawser Pavir	ng Company
Ref. #	Item#	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
Scope	1	All work required except work provided below in bid items 2 through 8. This includes but is not limited to all mobilization, environmental controls	1		\$116,423.91	\$116,423.91	\$195,100.00	\$195,100.00
Special	2	(including Calcium Chloride and Water). site preparation. pavement Bumper Blocks Removed, Stored, and	1	LS	\$3,000.00	\$3,000.00	\$5,400.00	\$5,400.00
Special	3	Reinstalled Item Special - New Bumber Block 6' Long, Installed.	10	LS EA	\$85.00	\$850.00	\$158.00	\$1,580.00
Special	4	Item Special - New Bumber Block 8' Long, Installed.	20	EA	\$125.00	\$2,500.00	\$167.00	\$3,340.00
Special	5	Item Special - Unsuitable Subgrade Removal	308	CY	\$50.00	\$15,400.00	\$96.00	\$29,568.00
Special	6	Item Special - Location of Existing Utilities In Excess of SP-13: CMS 105.07.D	1	LS	\$4,000.00	\$4,000.00	\$1,900.00	\$1,900.00
Special	7	Item Special - Repair of Existing Utilities In Excess of SP-13: CMS 105.07.D.	1		\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00
614	8	Maintenance of Traffic	1	LS LS	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
109	9	SUBTOTAL: CONTINGENCY (15%, rounded to				\$152,173.91		\$243,588.00
107	,	nearest \$)				\$22,826.09		\$36,538.00
		GRAND TOTAL:	1			\$175,000.00		\$280,126.00
		% DIFFERENCE FROM ENGINEER'S ESTIMATE: % DIFFERENCE WITHIN LOWEST						60.07%
		BIDDER:						5.09%

				Engineer's Estimate		Strawser Pavi	ng Company
Ref. # Item #	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
	Contract Compliance No.	:				314412354 (1/	14/23, MAJ, 6114)